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CoMMON CORE ALGEBRA I

PART I QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

1. Which of the following is equivalent to ’-/ (/ é X -+ 7)

~3+X
2. Which of the following is the value of the expression when x= =

3. If the expression &+5x is equal to 42 for some value of x. Does x = 8 ?

4. Tg binomial 7—7+2x, Qquiua.k’,n{' 2% -1 7
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‘-6. The Sum of é*X and 'fx-[ e

7
7. Which of the following equations illustrates the dp‘slr}weproperty amf) cwmwhkde W(jj %
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8. Which of the following is 3 ( 'é)( )

9. The expression 9()() + 9%+ 3 is equivalent to each of the following -

10. When written in simplest form the expression q ( —lx + 7) ¥ 3( - X)
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PART II QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

.ll.Find the Sum of ~2% with 3){ in simplest form.

. ‘ =Yl n-= 5>
12. If n represents a number, Simph ‘FJ ’fﬁb €y ‘?re,SSIOn . (

B+ %
whenx= — l‘f

13. Which of the following is equivalent to the expression

PART ITI QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

14. Which of the following properties justifies the equivalence: Deline ‘lﬁg answeR .

3+n=n+3  and o(x) =6 x

If

15. 4y = = -5 for some value of x, is it true when x = -3 .7 5):1» quS'H'lWﬁon,
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16. Of the following, which are equivalent?

. = n- 1 ok 3(x+‘i) = 3x +12

Combine. like JeRms ok The ex‘)ression "BX e 4

17.

PART IV QUESTION: Answer the question in this part , Sheew Uwr wer K,

18. What is following step to simplify the expression.?

bawsion ~3(ix-1) +7( 5%~ 2)

Step #1 = Tl a ?)SX"IL‘

19. Simplify the problem above.




